KOC UNIVERSITY
MATH 101
Final May 24. 2008

Duration of Exam: 90 minutes

INSTRUCTIONS: No books, no notes, no questions, and talking allowed. You must
always explain vour answers and show your work to receive full eredit. Use the back of

these pages if necessary. Print (use CAPITAL LETTERS) and sign vour name. GOOD
LUCK!
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Problem 1 (20 pts) Evalnate the following limits.
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Problem 2 (20 pts)
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(a)(L0pts)For which value of b f(x) has a limit at x=27

(b) (10pts)For which value of « f(x) is continous at x=27
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Problem 3 (20 pts)Let f(#) = a2 — ¢ + 3

(a)(6pts)Evaluate ;“”11, frthi 7t (Show all your work!)
p—

(b) (Tpts)Write the equation of the tangent line of [(x) at x=1
(e)(7Tpts)At which value of x the tangent line of f{x) is parallel
to the line 30 — 5y + 1 = (7
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Problem 4(a)(10pts)Prove that Sin*n + Cos®a = [ for any o.

(b)(10pts)/f O<a < 5 ald Taney = 2, then ealeulate Coser, Sinea. Cote
C'os20, Sin2a, Tan2e
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| Problem 5 (20 pts)Maximize P = 80x 4+ 70y

sithject to v G+ 3y < 96
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